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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 4,559 2 1,906 3 6,574 4) 4,850 X
X 6 X 7 X 5 X 2 '
2.
3.
4.
5 2,570 6) 8,874 ) 4,833 8 9,332 i
X 8 X 7 X 2 X 5 '
6.
7.
8.
9 1,106 100 3,153 1) 1,360 12) 4,857 .
X 3 X 4 X 6 X 9 '
10.
11.
12.
13) 3,264 14 4,976 15 3,952 16) 9,997 .
X 8 X 4 X 9 X 8 '
14,
15.
16.
1) 2,000 18) 9196 19 8,939 20) 3,616 .
X 8 X 4 X 7 X 2 '
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1 2 3 4
) 4,559 ) 1,906 ) 6,574 ) 4,850 . 27354
X 6 X 7 X 5 X 2
27,354 13,342 32,870 9,700 , 13342
3 32,870
4 9,700
5 6 7 8
) 2,570 ) 8,874 ) 4,833 ) 9,332 s 20,560
X 8 X 7 X 2 X 5
20,560 62,118 9,666 46,660 6. 62118
7 0,666
8. 46,660
9 10 11 12
) 1,106 ) 3,153 ) 1,360 ) 4,857 . 3,318
X 3 X 4 X 6 X 9
3,318 12,612 8,160 43,713 0 12612
1. 8,160
1 43,713
13 14 15 16
) 3,264 ) 4,976 ) 3,952 ) 9,997 13 26,112
X 8 X 4 X 9 X 8
26,112 19,904 35,568 79,976 1 19,904
15. 35,568
6. 79,976
17 18 19 20
) 2,000 ) 9,196 ) 8,939 ) 3,616 o 16,000
X 8 X 4 X 7 X 2
16,000 36,784 62,573 7,232 18, 36,784
19. 62,573
0. 1,232
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